AUTO-HAK Sp. Z o.0.
ul. Stoneczna 16K 76-200 SLUPSK
POLAND
tel/fax +48 59 8 414 414; +48 59 8 414 413 AUTO
e-mail: office@autohak.com.pl
www.autohak.com.pl

MITSUBISHI Nr Kat.
PAJERO, 3D, V60 745
X 052000 == 02.2007

E20-S5R-01 4804

D 1541 kN
é%@ R=3000 kg
4
J s=135kg

FULL VERSION INSTRUCTION

J
sbd 1 M6 M8 M10 | MI2 | Ml14 | Mié
Klasa88 | 9,9 24 48 83 132 200
klasa 10.9 117 185 285

14 34 67
Oﬂkm — O 1000 km

AUTO-HAKX




x1 7 M12x120 X2
& 8 M12x7/0 x2
9 M12x40 x4
10 M12x1.25x40 | x8
11 1M 10x30 x 1
2 x1 12|M 8x25 x2
Art.nr-KL1Z45 13| 13 x8
3 x 1 @ 14|® 3/x913%x3 8
Art.nr-BL1Z45 13 DIN 9021
4 x2 15|90 30x910.5x2.5 1
10 DIN 9021
5 x2 16 |P 24 xp8.4x2
@ #58x213mm L=8mm 8 DIN 9021 4
6 x1 @ 17|90 12.2 x16
9 18|¢ 10.2 x1
19|9 8.2 x2
AQ‘ 20(M 12 x8
Q/ 211M10 x1
22|M 8 x2




1x 13mm 02
Ix @ 212,2mm

Ix @ M2

1x ﬁ M12x1.25x40mm

Ix @ 912.2mm

1x 237x213x3mm

1x ﬁ M12x120mm

[]
0
1x (Q) 258x213x8mi e

2x z13mm
2x @ 212,2mm

x @& M2

3x ﬁ M12x1.25x40mm

3x @ o2122mm I
3x @3 7x213x3mm %

.\.

Ix @ 28.2mm

IXMS

1x 224x28.4x2mm 06

1x 224x28.4x2mm



Ix @ 210.2mm

1x & Mio

7 S
2x 213mm B
2x @ @12,2mm}
2x @ M2




	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8

